BEAD GEXEF - BTTH5)

{F6FEIH | B
;1) X % # F K A ! % %

B 7 & o X 6,939 13,327 6,986 6,341

X B # K 1,208 2,807 1,384 1,423

£ P # K 547 1,369 693 676

N RO K 1,007 2,588 1,305 1,283

Bl 4% i K 7,192 14,856 7,267 7,589

N | R # K 1,319 3,078 1,50 1,577

it XX M # K 1,038 2,402 1,199 1,203

it &8 & b K 8,000 18,359 8,742 9,617

B » B # X 6,548 16,125 8,048 8,077

& 5 33,798 74,91 | 37,125 37,786
Lf6F9AH 1 8

w K A& BT T % # #H A ! 5 54

B 7 WX BE 7 1B T A 4,621 9,201 4,627 4,574
¥ FB H 202 358 202 156

® B E 429 825 427 398

£ L L H 775 1,350 846 504

g R H 321 534 292 242

53 ip 59 | 1,059 592 467

#H K3 6,939 13,327 6,986 6,34 |

A E 1 K £ B H ql 206 103 103
N & H 825 1,927 94| 986

= K 145 335 169 166

+ K 1% #7 6T | 47 339 171 168

#H K3 1,208 2,807 1,384 1,423

k P # K ® B H 137 338 177 161
= (| 17 38 16 22

£ @\ H 125 388 186 202

& & H q7 215 100 115

R H 107 239 135 |04

K F  H 64 151 79 72

#H K3 547 1,369 693 676

N RO X N KR H 175 395 199 196
nOR |46 387 192 195

7 PR HT 32 78 34 44

B R ¥ g 488 1,313 678 635

& A& 63 170 79 ql

Z ij) 103 245 123 122

#H K3 1,007 2,588 1,305 1,283
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BEAD GEXEF - BTTH5)

{F6FEIH | B
X £ Bq T 4 it FEH A = L 8
Bl % # x | Bl & H 642 1,493 730 763
P9 & %7 @ BT | 2 2 0
A 1 HT 169 409 198 211
B R B 743 1,621 79 | 830
& & 993 2,167 1,012 1,155
Bl &£ 102 398 157 241
= & 1,976 3,936 1,952 1,984
B | TH 236 417 213 204
8 2 TEH 455 880 44 439
8 3 TH 501 809 415 394
8 4 TBH 763 1,383 700 683
Mt W 25 | 4 |
NGB OFE A HT 437 q24 459 465
JE 5% 4 %7 |8 BT 15 35 15 20
LT 1 148 357 168 | 89
#H X 7,192 14,856 7,267 7,589
N R R X R AR E 1,319 3,078 1,50 1,577
#H X3 1,319 3,078 1,50 1,577
b X R X & ¢ H 71 220 115 105
& 7 #7 @ T 64 | 54 77 77
‘A BE YR E] 106 244 118 126
g @\ 6| 14 74 67
it /H  H 74 | 89 92 q7
N B 31 82 43 39
& ‘A 68 175 88 87
X B 6 16 7 q
BAaa | TH 93 193 105 88
BAaE2TH q2 199 q4 105
mHoE3TH 100 200 q9 101
mHoE4TH 136 301 |44 157
Mo ES5TH 54 118 57 6|
BN E6TH 82 170 86 84
#H X 1,038 2,402 1,199 1,203
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BEAD GEXEF - BTTH5)

{F6FEIH | B
H K % B T 4 # FH | A = L 8
t®EE®E | LI TH 183 397 193 204
EWL2TEH 200 459 216 243
EWw 3 TEH 173 391 207 | 84
Bl 4 TEH 335 831 361 470
EWL5TEH 276 604 280 324
EWL 6 TEH 287 670 335 335
EWL7TEH 236 575 280 295
EWL 8 TEH 276 612 304 308
WwWE I TEH 444 926 430 496
WwWE2TEH |29 324 159 165
¥ 3ITBAE 231 514 266 248
WwWE4TEH 157 358 166 192
WwW¥ES5TBH 245 55| 262 289
WwW¥E 6 TBH 272 610 282 328
NI T B 28 62 30 32
N2 T H 356 903 447 456
N3 TEH | 84 406 210 196
NS 4 T B 607 1,196 520 676
T& 1 TH 200 463 221 242
& 2T7TEH 236 57| 269 302
& 3TEH 138 313 162 15
T & 4T7TEH 272 672 324 348
T &5TEH 192 435 188 247
BRE I TH 194 488 237 25|
BHRE2TH 210 570 275 295
BHRE3TE 72 192 ql 10|
wHRE4TH 210 457 213 244
TRESTH 286 74| 346 395
Afx& | TH 160 41 | 202 209
A& 2TH 173 403 200 203
A& 3TH 364 806 392 414
Afr& 4 TH 674 1,448 674 774
o X E 8,000 18,359 8,742 9,617
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BEAD GBXF - BTT )

{F6FEIH | B
H K % B T 4 # FH | A = L 8
Ry MK | gEyrl TH 170 804 552 252
Bk BE2TH |70 420 213 207
By A3 TH 206 466 239 2217
Bk B4 TH 287 75 | 354 397
B4y A5 TH 341 8l 379 432
By 6TH 333 q42 471 471
Bk BT TEH 433 117 575 542
W/ AW TH 292 710 328 382
W/ N2TEHE 239 579 282 2917
W/ W3TH 381 984 470 514
W/ W4TH 306 778 372 406
W/ W5TH 283 731 362 369
wr e TH 536 1,130 552 578
WworBE2TH 468 q97 480 517
WwWor B3 T8 361 1,013 506 507
Wwor B 4TE 344 586 290 296
BRI TEH 284 734 372 362
B¥27TEH 448 1,029 519 510
B3R 3TA8 310 750 381 369
B¥ 4 TEH 339 618 296 322
v B | TH | | 34 37 q7
v B 3 T8 16 41 18 23
# K F 6,548 16,125 8,048 8,077
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